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33600000 tlhrlnpurlp h ulunnrluruururLlntptp * 13,247.2

3302 1450 UrilnSlrl l0 LIq cz hruF g iJ5500 9s00

3362t450 uil1n$f1 l0 ilq h*F 15,4 123200 8000

33621390 Upfu.nilfr1200 ilq htup 56 129920 2320

3362t390 rrnp4tupnh 200 ilq qz h.F OJ l 89000 3000

3365 I I l2 Urfopufr\1ul{ r/\urfuml p 1 5 6, 2 5riq/5 il1 1 00il1 CZ SL 1034 51700 50

3365 | I l2 Urfopufr\p{ r/\u}unilp 1 56.25tfqr5{1 I Q611 qz
SL l0-s0 21000 20

33651 \ 12 Untqtthhrnfrtr o2u-rpru\ 228rlq/5rI1 70rI1 CZ SL I 900 89300 4'7

33'651 r 12 Umqilhhurfrh o2urpur\ 22ttrlql5rI1 70il1 q2
SL 1 9 5t,54 5)745 5R z7

33600000 Upnrgfrur 20%15 rI1 CZ SL 462 1 848 4

33661 I l9 UlrurlqfrL 50% 12 {1 -, uFqurU 31,5 2205 70

33600000 Ulhp-alr lOilq h-F 58.23 3493,8 60

33600000 '[urp1u-rc1]rL 10 dq s2 hrup 73,5 4410 60

3369 | | 40 U33 1mb{nr1 100ilq CZ h tup 64,99 10398,4 160

3369 I I 40 U88 lnrb{nr1 l00LIq qz htup 72,98 s u3 8,4 80

336217 20 tr|rqpn15 LIq CZ l-rup 9.4_s 65205 6900

3362t720 trfqpn15 tlq q2 h*F u.9 667 s0 7500

33621720 trfrqpnl l0LIq CZ hLup 2lt.49 l 88034 6600

33621720 trfrqpnl 10LIq h-P 28 | 69680 6060

33621260 trpnhlunfnnfrir o2urpu\ 1 25il1 $r 443,48 t3304,4 30



33621260 Fpnhlunfruilrl o2urpur\ 125il1 SL 47 4,41 9488,2 20

ll62ll60 +$shphLh ilnilf\ 2.1 lq CZ Lin Li[11 14 2s160 340

33621360 a*rshphLh dnilf\ 2,1 1 q qz ilnrff\ 92,34 I U46u 200

33691212 'Ihnnurtou nuF u2.9 | 8403 tt 2220

33691212 'Ihr.npurlhpu h.uF 86,3 8 259140 3000

3363 l3n0 Ufr4n\ut1tf 150ilq cz hr-up It0,76 969r,2 t20

3J641413 rlhpuunlhururqnb a ilq/l il1 uFqruu t) 2t90 30

33641413 ltpuurLitrnurqntr 4 riq/l il1 qz uprlurU 65 l 300 20

3364 t4 | 3 'Ihpuuilhurr,uqnh 0. I '2,- l0J1 SL 590 2950 5

336414t3 'Ihpuurilhunuqntr 0, 1 %- I 0il1 qz SL 591 59i0 10

33621380 'Ihpuu:ilhururqnL 0,5dq h-F 36.22 7606,2 2t0

33621380 'lirqnpulrh 0,25 rlq CZ h iup 495 9900 2000

3362 | 380 rlfrqnpu]rL 0,25 ilq q2 h*1. 5,5 I 1000 2000

3367 l I 30 'Ilu.ih4pn1 1%-1,0 uFrlru\ 23,1 693 30

33671 130 'Ilrr.th4pn1 1%-1,0 qz uFqur\ 22,1 442 20

3362t4s0 I-frqfrLnqpfl20 dq t,z h-F 45.6 191520 4200

l363lr0 'Irrlbpu 2t-t1 CZ utqLuU 50 r.6 20064 40

3363 r3 l0 'Inlhpu 2il1 qZ uFqur\ 47 5.2 30888 65

3362t700 hqhln\ 100ilq l-rr-up 29.1 51678 1740

33621100 hqfl-n\ 100dq qZ htup 304 3 6480 1200

iJ02 I 7o() hLrLuluLulp[1 l Oilq CZ h rup 5.29 s3 95lr I 0200

3362t760 htrurlurupfrp l0ilq qz hrup 4,6lt 21528 4600

33621760 hhurlurqplrl20ilq cz h-P fl 72000 4000

3362t760 hhur1urqpf1 20ilq h*F 25 95000 3 800

33621s20 hl-rurlurqpfrl Z hr.r-rp l lt,3 73200 4000

33621520 hhrulurqp[12 qz h-F 21 8400 400

33621520 hhqlrpu rlnrn $nprnh l-2Oilq Il-2,5ilq 7' unr$ 22t3.88 664164 300

33f21s20 hhqfrpu'Inrn Snpr-nh |-20rlq II-2,5rIq q2 urr-l-rlr ,'t1t ?5 '77930s,5 334

33600000 UrIb\uur cz 4t1u{rn2ft "t4r.02 4230,6 30

33600000 Urlb\uur 4hrlurfrn2lr t48,s2 11881,6 80

33642230 hnrpfrpnpu 100ilq h-F 12 l8 35902 2900

33642730 I--@[pnpu]rL 100ilq cz hup | 4.3 25740 1 800



3367 1 | t4 LnrQfrfrtr 2,4'k-5 tI1 " \JL upt[ur11 37 8 756 20

336s I 280 LpgbQmPfl az 4trlurqiur.n[d 52.21 t31s6,92 252

336s 1280 hpgt'bntpbl 4h1u-rqttrurlrd 60 I 6800 280

3366 r l 56 tdf rfirpnl ru\Lu\Lu pfrlirbp 0'-s "/i--s LIL CZ bL 3 [J8.ri 1776 20

33661 I s6 tdlnlnpl ur\hur\upfrf.rhp 0,5 (2,--s rI1 $r 3 u0.l7 15214,8 40

33642240 Ofrpnqnl i0riq cz h*F 64.98 3s't39 550

33642240 fdlrpnclnl 1Oilq qz hrup 76 41800 550

3361 | \ 17 SurnrQnh 4 ol'-10 rl1 CZ QL 3'.70.12 s 73 6tt.6 155

33631290 Fpnt$hh lOft ilq/srl/I 00il1 SL 600 32400

33631290 I'pnr$th l Ott LIq/5rI1/ I 00rI1 qZ SL 5 lr0 r 1600 20

33631290 hpntqpn$hh 200 ilg N 30 hrup 4,99 1696,6 340

3363t290 hpnrqpn$tl,r 200 rlq N 30
q.2 h.uF )z I 820 350

3362 I 600 hl.r4urqrurllr4 1,5 LIq CZ hup 47.8 t2908'7 2'100

3362 l 600 hh4urqullfr4 1,5 dq q) hr,up 43s r3t805 3030

3363 1200 I-lrnrffrghuif h 0,25%'5 {1 cz hL 438,4 3945,6 o

3361 12 l0 Unr1.$u,ruurl.uqfrL 500 ilq GZ hr-up 56 25200 450

33691213 Lhbhpu CZ 4hrluqurufrd 4lJ u0640 680

3361 U80 I-urpuurlur\ 670dq/rl6 200il1 $L 900 49400 26

-]i6l I lx0 l-url-1unr-pLu\ (r70r-fqi r[5 200il1 $L ftL 1196.61 21559,32 12

3369 1 I 86 I-nrghuturf 800 riq h*P 50.4 t22472 2430

3369 1 1 86 Lnrghrnruil tl00 dq qz hLLtp -s 1,5 66435 1290

33691222 Or-lrunnh 400ifq/2 5 LIq az rltrlurqurulrd 266 52668 1980

33691222 Orlurnnh 400rlq/25ilq qZ qhrlurqu.rufrd 2 8,t{4 64890 2250

33611420 gurlgfnr-il'I3 500/200 huF )z I 50400 4700

33611420 9urplrntrl'I3 500/200 qz h-F 3 I 05400 3400

3362r370 rru-rp4[\hrn f]hr.nurP4 2 Or.Iq htup 26,rJti 17 412 650

33621370 tru-rp4|r\hur flhr.nuP4 2 0r-[q qz hrup 34,8 45240 1300

33621370 kup4fr\hu Ohrnurp4 40ilq cz lrruF 45 22500 500

33621370 trrup4fr\hur ft hururP4 40iiq hurp 4u 45600 950

3351 l 180 'IlnrSrulur\ 667rlq/rl1; 500il CZ SL 397lJ,5lt 95485.92

3361 I | 80 'I1nr$u1u\ 667rfq/il6 500il q)
QL 3[i50 73150 t9

1366r l2l gtupqfrnLlLuqhf l I 50dq az hn l9.q 4 l 7900 21000

33661121 9rup4frnlurl$ 75 rlq q2. htup 10,46 25 l 040 24000

3366t121 trup4fn AC l0o ilq hup 20 8000 400

33661 12l Spnrlpn UU 100ilq qz h*F 20 1 6000 800

33621690 trupr{h4}rp112,5 ilq CZ h*P 20 60800 3040



33621690 trruprltrllrpll 2,5 rlq qZ hup 21 .5 477 40 1736

33651 l3l 9n-r.nplnlnputuqnl 240 LIq I 5 {! 120 CZ SL 4n0 I 2000 25

336211 50 Llr$hailqirl.r t0 dq htup l3 2600 200

3362r7 50 \,lr$h4lrrqfrh l0 ilq htup 13,71 t37 \ 100

3366r127 Uhurlqlrh 50Orlq CZ hrup 5.41 2001,7 310

33661 121 SfrupurInl: 6Z hrup 4,31 865,26 l9B

33661121 Sfuipurtlnh qz hr"up 3.7 ll /)o 200

33661121 Uu\n$ttr- Uprlrlr qz hrup 1.t3 2281,6 320

33600000 -fuuqhfrh pd2\ur\uh 3oq QL 95 28s 3

3363 r210 trhrnuln4frh l 0'Z' l20rI1 +L 195 79 50 l0

3363 1200 Uh\npFnpillh4 PunrP 40q 7' qurfl\nrd 252 I512 5

3 3 600000 truguruurhurl|rh hppulftubnr\ purn'{}r2hLu\nt CZ qlup\ntd ,oo ? 3590,4 12

33621290 t-mEnrlp ur4pthufrtr 0 1 t3%I rI1NI 0 cz uprlu\ r23.34 6t6,1 5

33621440
rlfrpurqnll% 1.0 cz up{tut1 )\ ) 252 l0

33600000 Utrnt2ur4pfr uqfrpur 30 il1 SL u0 440 l8

3162 r 160 LlrurpnqfrglrlrfL hrLrP 0 0005 cz hrup 7.78 311 2 40

3366t122 'Tlurpurgtururrfnl 5 00 ilq CZ h-P 3,7 t3 t512 400

33661 122 (lurpu-rghrn urLlnp 5 0o dq q2 hmp 4. rl u66 200

3\62t320 gurutlurlunufr hruhnlll 7, hup 167 250s I 500

33621320 gr.uurrlurfunurf nghpntPtl 30il1 az Sr | 3 7.56 3439 25

33600000 1-b Ufr4nulur|\ tu1p.\urP 2'5% 5ml $L 2640 26400 10

t36l I 1.50 Utqftf $nptnh 10000 iltt CZ h rul: 8t.li9 41945 s00

3361 ll50 tlhqfll Snpurh 10000 ilil l-tup It7 27840 320

3362 I 580 Zfr4pnppppfrurqf4 2s Ltq CZ lItP t1.2 4480 400

33642220 Uhpfrqph4 a ilq CZ hr.up 654 31392 480

33642220 Uhpfrqph4 a ilq hurp 63 39690 630

33642210 'tlph4hfrqnph 5ilq cz hurp 11 4000 500

336213r0 Ulrl4pnhuru 500rlq lir-up 93 111600 I 200

3362|It0 tlfrl4pnl-rurur 500dq qe hrup 99.99 9s990,4 960

3361 1341 .{frurpnr-tl trh1p}r burilnrlfr llurpfrnr-tfn{ 7> hurp 695 66720 960

336r I 341 'lfrtnpntr'f trh1pf bunlnr{ir \upl.rnulml h*F 15 22500 300

3361 t34l tlir\nr{ftn o2u-rpur\ CZ QL I 100 66000 60

3361 r34l Alr\n{lrtn o2urpur\ qz Sr 1 150 23000 20

33600000 Lruqfrln\ 0,01'Zo-10 rI1 CZ SL u00 32000 40

3 I 600000 Luqfrln\ 0,02,s'2,- l0 rll cz SL lJ00 72000 90

33600000 Ltuqlrln\ t).025'%-i0 rI1 QL 696.96 3484r1 50

3365 t280 Lfr$ntpnr.Ih4220ilq /5rlli001I1 $1ur\nh /o2rupur\ cz SL l7 13,7u 34215,6 20

33600000 trpmln\pflqurirl-r 2,5 ilq cz hLup t3 7,6s 47331 s40

11600000 trpntln\pinqnirtr 2,5 rlq h.F 90,7r1 4357 4,4 480

33600000 I qhbruPq4dq CZ l-rr-up 50 1 5000 300

3 3 600000 'rlnfinpurnlntr 4 r.[q cz hrrrn'''_ts 63.63 1 5907,5 2s0

33621460 'Ilphhhuuur 4dq CZ hurp 36.52 8764f1 2400

3362t460 'Tiphhhuutu 4ilq qz }tup l5 s2500 1 500

3362t460 'Ilphhhuutu 8ilq hLuF 52,03 t09263 2100

J3621460 nphtrhuuur 8r-lq h-F )2 85u00 1 650

33621460 | ttPhuuruPfrnrtl 5ilq hrup 102,65 123180 1200

33621460 I qptur.nurpfrnuf 5rlq qz hurp 101.32 109466,4 I 020

3362t460 'lphuurtul-rfrnni | 0ilq h*F l2lt, lft 20165]l ,6 t620

3362t460 'IlphuurruFfrmil 1 0r-lq qz hulF )34,02 t76906,4 1320

33651111 Urlnpufrglrfrtr 250 dq CZ htup 15.96 1 s96 100

33691232 Llrfhunr-ph1 100 ilq CZ hup 42 t9 2s314 600

33691232 Unuuprrh l00r.Iq hl.uF 78 23400 300

316l I 100 Or"ltqpurqnl 20 rlq C2 4trprultuurfrd t2.2 42822 3510



3361 r 100 Oiltqpurqn120 ilq 4hrluqururfrd ll.l 49950 4500

3367 t1 13 Uupurfrh gnrtLughp 100 ilqC 200 4nqut CZ SL 142 I 81560 130

3361 1 1 13 Uuptuflrtr gn\urgFp 100 tJllq/ 200 4nqut
q)

QL 15r5,16 184849,s2 t22

33621110 .{rupQurplrh 2,5 ilq C2 h*p fJ, tt 11440 1 300

3362 I I l0 .{up$upfrL 2,5 ilq htup 1r.69 191lu 2200

33621620 'thpn2qfrpntr 50Ltq 4hrltuu; ruuilrd 46 )6 29846u,11 6480

33tA21620 'lhpn2qlrpnL 5ottq q)
4br1urrqunrrlrd 49.ft l 358632 7200

33651253 Sullnpuf$hh 20 ttq htLrp 6l.l{.t 259896 4200

336512s3 Sunfnpufr$hh 20 rlq qz hurp 64 2t1200 3300

3363 l 1 70 Shtnpurgh!$b l%3 q/u-t1Pf PunrP/ qurp!nr-<{ 4tt0 2880 6

336213 t0 'Ilph4nt\r-nfnl 35 ilq UI) hup 289 t64730 5700

liollil0 Utntug-15 ilq t-IfI q) burp 399 227430 5700

33691230 Spnpuhnmurfrh 300 ilq N50 CZ 4hrlurquurfrd 26.24 10496 400

33691230 Spnpuhnnturfrh 4nh4n4 2% 40 q cz qrup\ntd 265 r2190 46

3369 I 210 Spnpuhnmrnfrh 4nh4n4 2% 40 q qz qurp\ntd 300,69 | 5034,5 50

33661 122 Shnullnl r.Inrffr\ I 50 r.tq CZ ilnilf\ 4rJ 41i00 r00

3366j122 ShLnullnl rlnrlfr\ I 50 dq q2 rInrIfrtl 5l,u7 77110,5 150

l-i06 I l2 SturLudnl rJndf Ll i25 tlq cz rlnrtlt \ -s lt 23200 400

33661122 Shuturlnl r.lnrffr\ 325 ilq qz Ltndf l-1 60 9000 150

3366r22 'Ilurpu-rghurullnl 120 rlq/5 il1/100 d1 cz SL 360 r 0800 30

3366r122 'Ilurpughurulfnl 120 rlq/5 rl1/100 il1 qz SL 376 7520 20

33691204 Shhfrllth 0,03q T' hrup 3 2.6|J 13072 400

33691204 shbf$h 0,03q qz h-F 33.94 6788 200

33671210 $tpnnf I-h! o2tupur\ 5Orf{tfi l00L\ CZ SL s00 s7000 30

336212t0 $hpnuf I-t\ o2ur;rur\ 50rlq/rl1 I 00il1 q)
SL 2 r00 31s00 5

33621470 Sfrqfrnurhhq 0,4rlq CZ h.'F 226 I 89840 840

3362't410 $frqfrmnhtrq 0,atlq qz h-F 238.82 1 I 7021,8 490

33621590 $ntpuruhr.lfr4 1 %-2 {1 upr-lur\ 24.39 731;7 30

3367 | t2s Udp;rnpunl I 5 riq/5 il1 100 J1 cz bL 648 t9440 30

3367 1 126 Uilppnpunp I5 ilq/s tll 100 tll qz
SL 634,99 9s24,85 15

3362 t7 63 Lhpfrlhtn cz h*F 90.6 | | 19242,76 13r6

33621763 Ltpfrlhu q2 hup 92.28 t00769,76 1 092

3361 I I I0 'Tluhurhqfh CZ hrup 23.26 40JZ 200

3660000 huqnr-r.ilrqurh cz QL | 549 1 6s7 43 07

3362t590 $nr-puruhr.If4 40 ilq CZ htup 3 t2960 4320

33{r21590 Snrpruuhilfr4 40 r.iq s2 hurp 3. l4 11932 3800

3369 r nl7 gturlfrl-ru-rnLr $npurh I 0rJq CZ h Lup 69.44 49996,8 720

33691 l 87 9u-n{frl-rurnLr Snptnh I Oilq qz hurp 61 .4s 55]n 5 90

33691203 t-npfruurur l00rlq hup 36 33264 924

33691203 t-npfruurur 100ilq qZ hup 57 s1072 896

33631310 'Iir\pL 100 dq dntlfrtl 10 7000 t00

3361 1 I 10 Ullurqhl r/\urlumlp 1 70ri1 SL 998,97 11987 ,64 t2

31611110 Up-ftuqhl ry'\ Lulunrlp 1 70il1 qZ
QL I0't7.17 543 5,8 5 5

3365 1 l 20 Lnr{n\ur3flr 2%/2ti1 CZ uptlu\ 22 2420 il0

336 I I 360 'Ihtnpfnfh4 I 5000 UU//il1 cz $L 650 130000 200

3361 r360 U\{rurlhurpfil QL 672 t27680 190

33651224 Llhurmnphpuur.n 10 rlq CZ l-rup 181.2 28080 1s0

3 3 600000 knp{ur1n1 25 d1 cz SL l14 1 36u t2

33600000 9nptlu1n125 il1 q2 frL t39,6ti 2234.88 lo

33631310 'Ifr\lnQhLrLu\ oQpurSffr\ 0,1'% - 10il1 CZ QL 1 655,2u 1 6552.u l0

3361 l 120 $rurfntnlr4frl-r 20 dq CZ h.uF t3 9360 720

33611r20 5urilntnfr4frh 20 rlq q2 h.uF I I.n 70[t0 600

33621460 'Tlphuurrul.:u I 0ilq/5LIq 7' h.F 2ll s 7600 450



33621460 'Tiptuutulu 1Oil(silq qz hiup 199,06 89s'l7 450

33621460 'IIphunru'tru 5 ilq/5 Ltq CZ I-rurp :) 1l ts2460 990

3362146Q 'TlphuuruLu 5ilq/5dq h.F 60 96000 600

3361 1 150 Uhqlul Snpnh 3500 UU CZ h.P 1.t2 24920 3500

3361 1 I 50 Uhqfu.f Snpuh 3500 UU ct_) hluF 1 1,73 46325,8 r460

33621 1 40 \1nqfr4nr1ph1 0,075q cz 4hrl"uqurulrd 107 2 0 u650 I 950

33621140 9f3n 75 ilq gZ 4hr1uu.1utnfd 0 | 68300 r 530

3369r 199 9upufr190 dq t) rlhrluqruurlrd 72,07 48286,9 670

3369 I | 99 9urpulr190 ilq CZ 4hlLuqururlrd 7,s. u 7 45522 600

33 600000 Qurpuqhtruftr 300 LIq CZ 4trlu.rqLutnfrd 90 4s900 510

3365 I 223 UU hullur-f u1r-nrugilr,utr tuLrurnnpufrh l LI1 N l0 cz uptlur\ 80 I 6200 90

3365|99 Zu\urlluruur4nlpl u.: L quurt{uruururLl nrp CZ upLlu\ 6000 3 60000 60

3366 I I 33 Lur\nrl CZ l-F 03 10300 t00

3366 I | 33 Lur\nd h.F I 03,93 31 179 300

3367 1 1 13 Uqn-Uu$hLur 4Lfq CZ h rup 39 1 9500 500

3367 1 | 13 Urupnr-urullnl4rIq +Z h-F 50,7 r 1267 ,7 5 25

i367 I I lt{ Sfrqpn$prpur-uglrl-r tu!LLtu\Lupf lLhp 0 3'2, I0LI1 CZ SILLI\nl r 5 7 8,16 404?, 5) 7

336711 l8 3|rqpn$ppuulgfrll u-rl; [ru\ urpfrlLhp 0. 3 % I 0il1 q2 $1u\nL -s90,53 I I fJ 1,06 2

3369 I r 89 Anplhpnf\ 24dq cz l-rrup 696 4n6 60

3369 1 1 u9 tln[{hprnfr\ 2aLIq hup 67,9 20370 300

33621730 .{hpurquilfl l'tOilq hu.Lp 24.91 2996,4 120

3362t390 Urllrn4urpnh -s0ilq
7' upL[uLll 232. tiJ 4643,6 20

3367 I r J0 'Ifnfhpu o2urpruI I 25111 -> 22tq 946 r 0406 t1

33600000 rlhlopufr[ull Isrfq cz hrup 5t 55 6426 120

1367il 13 urupmururlnl o2uLpru\ 2rlq/5r.t6 i 25ri1 22t'tt u130.6I t4089,76 16

3367il13 uurg:nrurr.ur.in1 o2urpLu\ 2ilql5il5 I 25il1 q2
22trtl 953,9l fl5 u5 l9 o

3367 t 129 Snrpurlnrulqfrtr ur\urb2tu\urpfrf-rhp 5rI1 cz glu\nh 109,6s t2064,05 t7

3367 1 129 Snrpurururlgfrl-r ur\ulr2ur\upf lLhp 5il1 q2
$1Lu \nlr 7fl0 4680 o

3i66 | r 54 Sh Lnpur \ Lul frlr Lu \Lrru \ur p [ 1Lr hp I "'6 I Ott1 cz SlLu [nlr 2 316 23760 l0

336r 1 160 npruf$f1}tL 2ilqlil; lil1 qz up{tuL1 \02.48 2049,6 20

33621330 Vnp4frudlrL 250ilq/rl1; 2rl1 qt ulL{tuq 123.2 1232 10

33621660 llhqu-rlnnh 10dq/LI1; I rI1 qz upr[r.ut1 87,52 87 5,2 10

3363 1410 urlnqnrpfhnl 100rlq qZ l-r urp 0 3600 360

33600000 30Y., 50o/' h urh{dup 4trlnpurlp sac2 2,423.8

332 l 0000
Plril Llnrphp h ilfruL{uq oqrnruqnpbrlurb pnrd
,,,,,, -,,, ^,,,1, L -

CZ
2,300.2

3321 1250 C nhu\Lnfnl uqfruru\nrg tu[rufrq -s6 33 600 600

33211230 n0c uf$f$u cz LuLtu$q 36 3 6000 1000

33200000 Uqnqlrpull CZ QL 9u0 r9tJ0 I

33200000 U,LS CZ htum 32 | 6000 s00

33200000
Uuqupurr-uur ur-ffrlur u1-rr.uhu$hpLuclfr npn2tltulr pbnur

hurilurprubnt
7> uLruflrq 32 l 6000 500

3321 1260 Uhtnfr-Uuptiqnnflrqlrl-r O url-rufrq 55 l 6s00 300

33211140 trfrfrnntpfrl-r r.uLrr-u1, 21 l 0800 400

33211120 Qlnt\nqur npn2rlurh phup hrurlurprubnr urtrurl t0 68000 6800

33200000 bnplnppurgurluruppnr 1 20ri1 3'% cz hr,uu 800 l 2600 7

3321 1 160 kphunlrtrfrtr CZ uLrurl 12.1 9144 720

3120(x)00 ZhJn,lpplrl-r CZ $urp 4.9 49000 10000

13200000
2frilLu3f b $nu$rur.nurqrufr npn2rftuh phup-

hrurlurprubnr
C2 ruLnul 34 12240 360

332t I I t0 uh4fu\pfL-2 cz tnnr$ 24 21600 900

332il 150 tJfrqu-rl-r3ntpfr npn2rltuh phup hur{upurEnr cz rul-Lu I 205 | 6400 800



33200000 Zru\urpfrnrnir\ +hu\hn' gh$nrnopuftil cz SL t350 l3 50 I

33200000 Zur\rupf mnfr\ +It"\tl' ghStnurqfr4fll CZ Sr t3s0 2100 2

3 3 200000 2Lu \ u.r pfr n urlr \ 1 fr u 11 h p' gfrnl p nQlop tr ru g fr 
Lr cz .Pt I 116 176

33200000 Zru\urpfrnLnlr\ +hu\hp' o$lopuugfrb SL 1350 l3 50

33211130 tunytuurtpfrl: urhrul 20 80000 4000

332|,240 f[hrlurtnn]r4 $u\unp 7> ruhul l-l l 6s00 300

3321 1310 tdpmlpnqpruurlrhfr npn2rlurh phup hur{tuputbnr CZ url.rul 72 I 44000 2000

33211t90 Snfr\lnh uLburfr-U I 0d1 CZ Slur\nl-r u50 5100 6

332 | I 200 8nf!1nL tutrtnfr-F l0 tf1 $1urllnlr fl-s0 5 100 6

332t t220 Snfr\pl-r rul-nnlr-'I l0 rf1 unrulhp Spu\nl,r I 600 9600 6

332t l2t0 Snfr\lnh urhLnfr-3 l0 rfl unrqhp C2 QlLulluLt r 400 2800 2

33 l9l3 r 0 UhpfrlhL \urqnr-1 ui rlrn2ft CZ qp r-ur I 50 1 500 30

243]l1190 Uqurppnr llnhghLupfll cz utnn 2 1 000 500

24321440 prugurluruppnr \nhghbuiph\ CZ tt.^n 2000 4000 2

33200000 Lhp\ flmlurl.r n{u\f +ltilqLu trt-np s000 5000 I

33200000 Na gfurpur.n tq 1.4 350 2s0

33621641
trd2\ur\urtr qnpbirptrhplr hr.u\upru\tn hpfrul

urhlnulhurhhs rlhqnq tr,.l 3 000 63000 21

3362164]l hru[u-rpur\rnhpirurl hhrlnt\ du,gnl rIf 2ng <4']> 7' $urp 600 l 6000 10

33 141 160 Ol-lurpur&tu1lrur1fh qhl 250ily cz hruur 248 27280 110

33621641 'Ilhphqlr4pnl 3z% 1{1 7'
i_t,u.F 50 40tt00 80

3367 r l3li Uullrprn 96'2, CZ [rrrrp 00 71000 70

331411 t7 trrurlpur\ 100.0 CZ htuu lTll 80r 00 450

33t41t33 tr|rtrtn 5* I t) n2 utnhpfrl GZ hu.ru.r 43 11200 400

33]l41 133 trfrl-tn 7* 14 CZ hu-rn til 56700 700

33141116 Airtrur gfquh 3+20 a, hrutn 324 3240 t0

33]l4\ 129 rlfrilur\ rlfrutr{uq a2. hun I 1,4 87 78 770

33141114 raubqf$ pd2\tu\tutr c2. Lt /) 9000 t20

3314r 100
tlh\ ruhqunl3ru oqururqnpbrlnq qfrhh\nlnqfrur\utt

urur\ur2nphp gtln$url-nuqutn
-, rfuphp 300 39000 30

33141 | t2 Uqhrlu-rl-rfr uruhtnur {fr\ \turl hturfu-rJrdhp CZ hutn 44 4400 r000

331.41142 Lhpurp\f1 Luuhlnrl 2 0q cz htuu l3 2600 200

3314|47 Ltptup\fr2 uuhrlnrl 5,0q az hutrn t3 2600 200

33141 t44 Uuhl 08*40 c2 hurur 54 32400 6000

J235 I 2J0 hUQ dr.uqrutlhL 63*30 CZ hruur 360 | 08000 300

33691t70
Ohhurqth dr.uqur{hhhhpfr $f\uud' uttpu\f1 I 5,0

c2. flnp 6000 I 2000 2

33691 170 flhhrnqhh duqul{h hhhpf hpirtu\[2 I 5,0 CZ htuur 6000 24000 4

33il1140 5; nrnpnqpru$|rrul fr dLu qurlhlr \Lu rI h urLftupdtp CZ huu 42000 504000 t2

32351230 flhtrLnqhtr dutqutltlr I 3 * I t{ CZ r.nr-t{r 6000 t u000 3

l2 t5 [30 0.hLrnqhtr dturtlurrIhLr I x+14 CZ 9000 45000 5

3235 t230 flhhrnqhtr durqur t[hlr 24x 3 0 7> ur Lrr{r I 5000 30000 2

32351230 llhhrnqhh duLqullhl-r 30*40 unr$ 26000 l u2000 7

131 41 143 U\upir$f\uutnp uuhpfl huu 4.95 881 l0 I 7800

38sr 1340 Ourb\urqur\fr l8/l t3 CZ l-ruur 3 r3s00 4500

33 790000 trurdtu\ 250il1 CZ htutr.r l 000 2000 2

3314Ll3l Snrph|-r\hur' rJrtu \ uh r-rL{ az hru tn 5u5 I 7550 30

331 | t240 'tlfrqhui\ur1fr burlpur[lu.r1 I 000rI\1 huur 3.1i9 3 890 l 000

331 r r230 nlf qhu\ur1 fr burl pru\ru1 2001I\1 -, hiuu )4q 4980 2000

33 I r 1230 tlfrqhu\u1f burj pu,r\ur1 1 oil\1 7' hun 489 9780 2000

33200000 nfqhtn 0.1il1 CZ htuu -s0 7s00 50

33200000 'Tlfrqhrn 0.02il1 CZ hurur 150 l 5000 100

13r9l3t0 ShhupfrfrnLqLulf {rnpdurLnp Lf 2n{ hu-nn 69 20700 300

331913r0 Qnp&tul-rnp Z- l2 CZ hutn 60 | 2000 200



1363 I 260 lnrlh LnLbnLJId -5 urn\nu cz SL lJ fi 564 3
33t6t220 Cqurtnhl hutur 6 24000 3000
3843 1490 0turpfrfr puru (Uqu\1ur) huru 3,s 0 42000 120
33790000 ln4 |rrurnhfrl c2. hrurn -s0 000 20
33790000 9npur \ntrur&h 5 00ri1 hfr2hpn{ c2 hutu 300 3900 3

384 I r200 Ihpilulur{r utr4fr\ur1 frh LIU bruu 270 29160 108

33760000
Shrntuur\urh,uruhhlrqfhhir\ It tr.l*gph
il|r2nghhp uu hurq.qpull

717 .7 777.7

50311240 ZulJur\ru pq2ur1 frh,ulururdhLrurhur tlJurh
uurppunlnpnu-thhp h odrutr4ur! hlnrphp uu rurq.4pull

59s.0 595 0
I

33 1 00000 trd2\rulurh qnpblrphtp,pmduurpprurlnpmrlhhp uu hurq.4prutl
<< / 554

I

UGfuUSUL€LbI
3926 1 000 Sulurqpnrplnth C2 urq.4JturI 762 5 762.s
50311240 Pupppfr2htpf lrgpunlnprlurh uu urq,4pull 69.4 694

50311240

I 
Zurilu\upqirfrhplr, hunlur\urpq2ru1|rtr

I 
uruppur{npmrlhtpfq uq }r2b hpfr h odurtrqur\

I 
uurppunlnpmrihhplr rlhpurhnpnqrlurh uu hurq.lpulf 104 1 t 04.1 I

50421300

I 
r lhuulqhlr urfuunpn2f2 uurppunlnprlurh
4nqurlur{rur\urh, nthrnqth llurpfrhtrn}r
rntluhlr\ru11ruh urh&hurqpunlnprlurh,
uL&hurlurqrilr urhhunn ur\urh lnqur2ullrur\urtr
hu\nrlnrplnth

UU hruq.qpurl

168 0 r 68.0

I

33000000
ts nlduurppurqnpntilhhplr rlhpurhnpnqrlurtr

t-ru hurq.4pull
190.0 190.0

48440000
Zur2rlurul urhur llurtr rlrur urnurfdrydh ph
hrup4urprfurb, \urprlurt h llurqrftIurh h
ouurliluttl
ourlu3nr'r€nr'LLb,C
trhur\urh qurqlr rfurlnur\urpurpnul

uu hurq.4punl
I 10.0 110.0

I

trcu2 h-+4F-" 5,099.5 5,099.5
65211100

t
6531 0000 h1h\rnpurthtFshurJtr rfturnur\rupurpnrrl trcu2 hu-rq.4purr.I 3,602.3 3,602.3 I
64211230 Sf purlurb hhnurlunuur\ urq FCU2 huq.4pur{ 47 4.5 474.5
927 11100 hhrntphhururlhh hurq| rnpurLturrlpnllt trcue hurq.4prur-t 205 0 205.0
34141320 Uqpurhtnurgrlurh trcuz hurq.4prurt tt5-2 rt5.2
65111100 IurltLnr 2plr rlurnur\urpurpnul trcrrz hurq r1pruil 283 2 283.2
661 00000 trurtr\ur1|rh uuluruurp\rlurtr trcu2 hruq.4puril 84 84 I
6421'6140 Uunlntft purdurhnp4urqprftuh FCU2 hu-rq.4pruil 480 48.0 I

51 1 31 700
ts d2qurqurh pur$nhLtplr rlmpu phprlurtr h
n2h2urgriurh ANII' hurq.4pull

t62 0 t62 0 I

Qlrnrrltrhpfr hurilur\r-up q"l' 
;*4

9.'l-lurullurh


